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LaTeX 1
What is the difference between TeX and LaTeX?
Explain the difference between three full stops in a row and the \Idots command.
Can LaTeX be described as a WYSIWYG application? Explain your answer.
How many different types of dashes can be used in LaTeX?

Write the LaTeX code used to produce this document:
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1 Introduction

The World Wide Web has moved from being a platform for use by researchers
to something that is essential to our everyday lives!.

2 Protocols
The TCP protocol is used to transport data from source to destination.
TCP = transmission control protocol

The IP protocol is based on the end-to-end principle.




